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ECONOMICS

( Honours Core )
Paper : ECO-HC-4026

( Intermediate Macroeconomics—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
&I AR T faur -
fa) What is fixed ir.xvestment?
& Rivca R 2

(b) What is government debt?
R 49 2
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(2)

(c) What is effective demand?

e wifgm R 9

(d) What is consumption function?

IR

(e) Who provided the Rational Expectation
hypothesis?

TORIS oo Sope (R A
SRR ?

() What is neutral technical progress?
e efers s R ¢

(9) “Central bank of a country formulates
monetary policy.” Is it true or false?

“4 R BT I iR R TS

IR T G oy 9

(h) Who. propounded endo
mode]?

SRS RISt e e wRReT 2

genous growth
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{ Continued )

2.
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(3)

(i Name one new-classical economist.

GG TG-S wAfRT am o

() Mention one limitation of Solow model.

55’ W3 91 SRl me 3]0

Answer the following questions : 2x5=10
G ATTRA b3 fam -
{a) What is meant by liquidity trap?

9o ¥ e @2

(b) Mention two limitations of classical
theory.

IS ©ga 1o RvRmer Ty 3411

(¢} Define golden rule of Solow model.

v'a’ Wk At AR g fi

(d) What is Ricardian equivalence?
RerCrae wrer f 2

(e) Mention two elements of endogenous
growth

gEe RFME o1 SomE Trary 41 |
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(4)

3. Answer - any four from the following
questions : 5x4=20

TT PR <[ R 1 oo Teg fan

"(a) Explain the basic features of new-

classical school of macroeconomic
thought.

TR SARE sryER T-EPe it
ciere CIPBPmE I 3 |

(b) Explain the objectives of monetary
policy.

m%mmw|

(¢) Explain the budget constraints of the
government.

mewwn

(d) Explain vaf-ious motives of demand for
money as indicated by Keynes.

%ﬁﬁwwmmw@mm

(e) Explain the dissimilarities between
Harrod and Domar growth models.

RS W% TR R N—
T 1 R

{ Continued )

0

(5)

Discuss various determinants of
business fixed investment.

TS R RffeR RfemE Seems 41 |

4. Answer the following questions : 10x4=40

SR 2P T fa

(a)

(b)
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Critically discuss the Solow model of
economic growth.

e’ ST RerR WG SHEIEmA
TR AN 31 |

Or/ 9%l

Discuss the instability of growth process
of Harrod-Domar models.

CR'S-TAN WY kY RIrr afern sem
911

Critically discuss the life-cycle
hypothesis of consumption function.

oI5 IRA QIA-5F S STICAGA STZICI
HICeD 41
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(6 ) (7)

Or / 941 Or / J%q1

Critically discuss Fisher’s theory of Discuss the relationship between

optimal intertemporal choice. . technological progress and elements of

Rega T SRCIRE Ao @G Sl ' ‘suderedouSgrowtL: e

SRPICT SCGT 4 | ggfese wafe W wEEe  Rerm
TR TG4 o ST 37 |

(¢ What is meant by random walk of
consumption expenditure? Discuss
various factors determining con-
sumption function. 3+7=10

wEfe cot IR oS 3 & a2 o v
e <91 RfSa SAMFER SICes 41 |

* k%

Or / 341

Discuss the main features of Keynesian

economics. 10
@TPE  HEIM  WAfeT  SRYRE I
CARBIER S F4 |

(d) What are the main targets of monetary
policy? Discuss the rule versus
discretion of monetary policy of a
country. 4+6=10
e Aot @1 orween & 2 9w orm
(ifes Tieq ey T e f[wa scemsan
901
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